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Warm up
A photograph was taken of the a person
who is 5'6" tall (66" tall). In the photo the
person is 3" tall. What is the scale factor?
Sv.= 2
O
- 3
Lo ™__
Solve for x. 0 04
X (w)/& - —LL(/D)
1om| | ’(I\ h) G
om0, = 430
6m (p (9
m _ L;LQ
b _
= (6.6 M
\ llht 0‘: 5\1mmc'l'rj
8 i B' X=S
NTA
A ¢ Cl a‘ p0|'h+ IMRqC
f(23) | (8,7 A
(Q 5) (‘8\9 R
C(43)]63) ¢




7_5 Reflections and Line Symmetry.notebook

May 01, 2017

Linc OF SHMM¢')'rj
Y=3

PO:' at

rf_
Lnage

ﬁ(aﬁ)
B (25)

C (4,3

!

(23) 5
(2.1) @
Hﬂ) C/

Lihe b}- SL)mmt*rj
Obl,ZM I"nc
"'H\r'a\«)l'\ ((O, é) 4-(ol;°)

Poin‘}
A(2,3)

B (2.5)
[ (4,9)

Ima.je
A(T.%)
8'(5,06)

C'(7,¢)



7_5 Reflections and Line Symmetry.notebook May 01, 2017

Quiz..71,7.2, 7.3, 7,4
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